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(i) Answers to questions carrying 1 mark may be from one word to one sentence.
(ii)  Answer to questions carrying 3 marks may be from 50-75 words.

(iii) Answer to questions carrying 4-5 marks may be about 150 words.

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

U W1 % “HHTcH® e o A B P

What is meant by ‘functional structure’ of an organisation ?

s fore weRTt atfAfTeran @ SiRaw @i %7 war g ?

How does planning reduces the risks of uncertainty ?

S fafiee o 3 o seredfrem sare i s Fah ot 2 | 98 o 3t e,
writa - 3weRton, dfsaieqd smfe sl § 7o gafl 3 Aveiy @ Hiamsa BF S § S
FA E |

FIgt &1 FETES e o1 Tred 3, faovm @ fam % = fis sremer & ) wft
HRTCTH AL I 1 ST HLd ¥ Tieg FHg-—FHI T I9h! Tafaferai 1 g &
ST oft | 6 BT HHE H HrE I HhiSATEA auT Satduniy faareg se mu | fatimedr w5
gl ¢ = fore ot & e st sAfusit, a3 g, Frita-saewwn, difesgenm
FeATfe i HifE T W9 9 WieTse B S U odHaE & A=d i
T o1 TR T | UET e 1A 3 S % Uk % Sl UTshaT o Ueh =R ST e
femann | 58 =W <1 gEEE HifT |

Zamon Ltd. is manufacturer of electronics goods based in Pune. On one hand it deals
in items like books, music instruments, videotapes etc., and on the other hand it deals
in laptops and mobile phones.

The company had a functional structure with separate heads for production, marketing
and finance. All the functional heads were looking after the products, but at times their
activities overlapped. This led to problems related to coordination and inter-
departmental conflicts. To facilitate specialisation Ramit, the CEO of the company
decided to group books, music instruments, videotapes etc. under ‘Media” and laptops
and mobile phones under ‘consumer electronics’. While doing so Ramit has performed
a step in the process of one of the functions of management. Identify the step.
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VXL Itd. is a company dealing in dairy products. It procures these products from
Rajasthan and sells them to various parts of Delhi. A month before ‘Merio Ltd.", a
Haryana based company entered Delhi market with a similar range of products. State
the impact of entry of Haryana based ‘Merio Itd.” on the working capital
requirements of VXL Ltd. Also, name the factor affecting the working capital
requirements of VXL Ltd.

it e fereHl = a1 3t IwEntt Iearel S ugiferam, gt o Aw, werdisht
TN S TSR e IRehoT B Hold Ush oSl ST 8 | 38 31faehel 9 3Tt @t
FEA B | T8 TR A AT T B q9n FEia w9 9 3 STEns] 1 AT 6
T A B | U GTETSHT % ferefiee 2 38 qe stffia sresfier 4o A1 e 2 |
30 39 TR 1 1M 91 § 3176 924 & yvEid wi hl HUEdT 8 | el w1 fadi yeees
FTTY &=, AUk sieh § Tl ST Bt Sh1 ShrAfaItereh STavashdail § Mgl we-1 =adT |

Ha it fon et st siffiaa wrivier gt stevasaret 6t qfd &g sTawEs
T 3% e |

“Vani Oil Refinery’ is a large company, engaged in processing crude oil and refining it
into more useful products like Petroleum, Kerosene, LPG etc. It has build good
reputation over the years. It has been consistently earning profits and paying regular
dividend to its shareholders. It needs additional working capital immediately to
finance a project. It expects to return this amount after seven to eight months. Ashish
Batra, the Finance Manager of the company does not want to get into procedural

requirements of securing finance from a Commercial Bank.

Suggest how the company can raise the required finance for meeting its

additional working capital requirements.
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Give the meaning of Marketing Mix.

Ffe gt & 918 g Y & a1 Yo 98 off 9redn 2 foh saen gewn st fremm
@ ot faawor i i i e STt ¢ 39 I h wHelA °§ Hwrw i |

If the company has enough funds and the management also wants to have greater
control on the channel members, which channel of distribution should the company

adopt ? Give reason in support of your answer.

s fogpe fmfar wodt aré sl 3 e @ faeiware w s fafie e %
foreepe srom # weqa fope S “sheht forpe’, “wefig dreer’, ‘i Sifeft’ gefe |

frepe % 991 % dae R @ fafe @ B 9 e s % Rafrs g @
e R PR A |

SYUE | AT % G HTT i TgaH HIT |

‘My Bakery’, a biscuit manufacturing company, launched biscuits with different
flavours based on quality and features like ‘Crunchy biscuits’, ‘Sweet Potato’, ‘Coffee

Jolly’ etc.

The labels on the package of the biscuits are with pictures and different colours

indicating and specifying the flavours of the biscuits and their contents.

Identify the two functions of labelling discussed above.

‘o’ 9 “faehegenter § fe anaml W stiie $ifse
(1) % < Tera=rar; (i) Teafa aen (i) 389
Distinguish between ‘delegation’ and ‘decentralization” on the basis of

(1) Freedom of action; (ii) Status and (iii) Purpose.
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Ya- Ug vl W 3TiatEd wH=iE 1 hnfa s % e fou 9n g et de o
Tk o1 Jeeid Ty |

State any three financial incentives other than ‘Pay and Allowances’ to motivate

employees.

T wera & &= § foww ofed 4, se srefiey uimE &, ue T8 afEsE & for
ToreT e WE | 8, UH -0 WSl | FEiy 0ot et § oft, v e v o g
ST o, AT Tkt oft 9 ot ® v ogd O vIsgl & aredtash 31 1 el auet 961 | 98
Tt e & &= 7 foiwm oft 7 o | 5o € 7, WO % F@ 9T T ARG W
SIS § 39 WehR ¥ foa T o ok gud wga -t snerfeat an wE T Swen wem @ ard
fir= g1 |

(31) e 5-Her § e &1 21 fafire smena = vgee it |

(@) orgq gry wiasr § 31ud wew 1 g9rEeell S 23Ul (31) § ugEel Te
AT Bl gL B AT [ehea] &1 SUTT 1 Ieeitd HiTTg |

Lakhan, an expert in the area of Financial Management, sent an e-mail to his
subordinate Thomas about a new project for a client in France. Though, the mail was
in English, a language known to Thomas, he was not able to understand the actual
meaning of many words used in the mail. He was also not a specialist in the field of
Financial Management. Not only this, some portions of the mail were translated from
French to English in such a manner that many mistakes crept in, causing different

meaning to the message.
(a) Identify two specific barriers to communication in Lakhan’s e-mail.

(b) State any two measures which can be taken by Lakhan to overcome the barriers
identified in part (a) above to improve in future the effectiveness of his

communication.
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e feafaee & faa yerus e @i awn vawy ey “sger duer e ada
T o YT 24 fomt ustEa e & Hia & fave °§ 5=t R 9 | S fuse
o aut § 5078 37 9¢ T &' @I 3P Hd 8¢ Hrand |9ib 4 g fen e awar =t
T fiehaT €1 S0 ik 3Tde =9gT VT T frehed Jgam o1 |

gt <l I YETeT STl 1 2§ WEd 5T S HUE & AT &g 39T
fopu < aret fora = &1 e difsu | g8 fol o & foe sam 6 v 9 aret 9 9
b D it TETsT 5wt uTie | weh gren T |
Neelabh Sarin, the Finance Manager and Atul Chopra, the Managing Director of
Ghokerns Ltd. were discussing regarding the source of finance to be raised for
modernisation of their existing plant. Quoting that ‘Sensex has soared by 5078 points’
in the last three years, Neelabh Sarin suggests that equity should be preferred while
Atul Chopra wanted to opt for debt.

Keeping in mind the high operating costs of the company, suggest the source of

finance that should be used for modernisation of existing plant. Also, explain the two
factors highlighted above which should be kept in mind for taking this decision.

SUATFITSAT <5 ZECeh 01 & I -HLEIV b Hew o [oheal A 19g 3| Bl HHHATRY |
Explain any three points of importance of consumer protection from the point of view
of consumers.

ITEHETETE o U ITeH TS WIEH T TieH H ateH uee A et s Ud 3 -
Terafia s w1 sreEm 3 T |

35 ¢ & e 1TE o e fafrifsa $ft 9w 20% e s1fla = =g sreaeee & fafis
Tyl v fafir wenm <6t fraTsat it okt <6 gaigem <61 Ao 398 |

welsh a9 10% =i agiadl = WY 36 SdH™ a9 & ferw 7 20,00,000 1 fasry @ty fuifa
e |

T YT 354 34 IMIRIBaistl & @99 &g FHe Faiia fhu i 9 s me
S T | TS et 5311 T SHEHTE 379 T1&d] o1 WTed i H Thel &1 T |
(31) 9 H Gl i 35T F Y ThE] &1 Wb <l A1 %1 g=H HIFT |
(9)  FUUFd (1) § Ug=IHI TE TSI o TR o 31 off i |
Vardan Patel started the business of preparation and supplying sweets through home
delivery at a production cum show-room ‘Express Sweets” at Ahmedabad.

He made a plan forecasting the sales of different types of sweets in various
localities of Ahmedabad for each month of the year to earn a profit of 20% on Capital
employed.

He set a sales target of ¥ 20,00,000 in the current year with a 10% increase every

ear.
¢ He then set the criteria for selecting suppliers from whom he would make
purchases of raw material. The planning paid off and the business was able to achieve
its targets.
(a) Identify any two types of plans by quoting the lines from the above.
(b)  Also give the meaning of the types of plans identified in part (a) above.
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wdt.un. fafiee 7 femmae vew % v frog & 4 wal wwehn gr aTis war e i
STt B qUT A9 HEA U W 39T 8, T Joiiagsh YR o HIOT T G T
T |

wow o9 | € v, fafads s1od Seutel Rt SN AT W IedTied hieh qAls oy
i S o Uel g2 | ST SRV AT HHETE] % il ud Soerfiedt i st #
T w9 F feariyd e aun d@ed & ety dumem gg fafi faamit & afefaferm o
A= U Thihd BT | BT % ICITEH Ja-4eh i & el W el HIe i Iucieera

&q U 3AYfehai @1 ot gar = | 39 GG 2 39 HEI o Y- feeek i us u

foran | <ifera 38 srgwifen s qen fomt e @ fa wra & o wrifafus foomsi &

I FTE T T <7 &eh |

(%) "I % I YHN I ugaw it g wror wrifafas foome gu qun s
%W e T T AT N1 A I ATH TE T 33T Hehl |

(@) IWT (F) § TE=H T A & THR & Uh oW HT Ioer@ hirag, formeht ==t
It feufa T AR |

(M uftuw, fafies gro s i weifia few o el @ yeu @1 oft seorg difs |

A V.M. Ltd. set-up its electric appliances manufacturing factory in a backward area of
Himachal Pradesh where subsidies are provided by the government and labour is
available at cheaper rates.
A V.M. Ltd. was able to produce its products at low cost thereby generating enough
profits in the first year itself. It was because of the fact that the limits of authority and
responsibility of the employees were clearly defined and the activities of various
departments were co-ordinated and integrated. The Production Manager of the
company also came to know about the availability of raw-materials at cheaper rates
from a vendor. For this he wrote a letter to the Managing Director of the company for
getting sanction. But because of procedural delays in getting this sanction and
procuring funds from the Finance Manager, the order could not be placed.

(a) Identify the type of organisation, that led to procedural delays and because of
which the company could not get the advantage of procuring raw material at
cheaper rates.

(b) State an advantage of the type of organisation identified in (a) above other than
those discussed in the above case.

(c)  Also, state any two values communicated by A.V.M Ltd. to the society.
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“we i o gvard yaee 3 freor el i ufsren § fore St aret =won 6 awsse |

Explain the steps to be followed in the process of controlling function of management
after ‘Setting Standards.”

31t mreties ferenera wlen orE w % wvEm, 15 99 6 o | 2 | fame v fen
3T 379 firan & arefie widreqor wreq KT 3TRY o Team | ges fuan, we gufing fasreft-
foreft o1, T9egin sga-=ft st § & foman o | 359 wfafem s o & = &l @
T A H e 3 9 3%+ #d g0 9gd W § <@ar w1 | 2fag v et
Aifufea e 3R a8 S h awAISH] B Tog A Hig T | 3 e % fua 3 I sEEw
% gia-ug faem smw # o | wme dfad % -y 2fae 3 3= wliw St g w
ot 3R 3ER # v gufg faeel-firead o7 mn | 92 s avE | faeelt % an
Bror o Totu 38 et s o femm |

(%) I L= H Atdq wieer 1 fafe = a1 s |
(@) widrerr e s @ uvErd Sfae i g gt fehedl di el @1 oo Fifs |

After passing his secondary school examination, David left the school at the age of 15
years and started getting training under his father. His father, a renowned electrician,
had worked for many companies. He everyday started accompanying his father on
work and watched him carefully while working. David was a good learner and learnt
the techniques of work quickly. Now his father started passing on the tricks of the
trade to David. With the passage of time David acquired a high level skill and became
a well-known electrician at Indore. Big business-houses started calling him for
electrical-wiring.

(a) Name the method of training discussed in the above para.

(b) State any three benefits which David could get on being trained.

Torftr wTeR % fopeal = Tl &1 avie it |

Describe any four functions of Financial Market.
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W Wt wrEws suifa % fou stemeE o | aw wfafer ded o fe s
FHH TS § aUE TR SHbT H oL 9T foT 9196 e e St &t 2 | 319t aifteiis
3T wgH F T 3ea v el g uriw 3 =1 Fofa forn | v & 39 et vem |
7t fefthm it mems e s fopan | 3ot wi & ferame-fomst < wvenq 97 wfafer wem =
o et dam et oft | sruht SEna % fawa § o giaa s % fore see u
Ffa-He gaaTeTs IrRte AR fohan, 38 svamn aun s S sHEn-uEt % A o
Fie 3R fora | 36 feftha & faawo 2q <t faam & oot wigani i oft Frgfaa i

FRY | e iU o1, W Wi § I8 T Uk 71 | U9 WIg § 98 310
20% AT FAFHT i H T 75 |
(%) IS 1 31T Tefte Sanati & an § griftd @ & Ty g g 3w § o
s e -ty i vgmm Fifsw |
(@) =Eqa ud qanat & fquue o fore sute (@) § vg=r 78 vad-fafy 6 feg e
fehT3TT 1 Seei@ HIfaT |
Sara was pursuing her graduation. Everyday she saw her mother working tirelessly at
home after coming back from her work-place. She decided to start a tiffin service to
increase her family income. To begin with she started supplying tiffin only in the
neighbourhood. Everyday she detailed out the menu after consulting her mother. For
informing the people about her service she designed a beautiful informative pamphlet,

got it printed and started distributing it through the daily newspapers. She also
appointed two delivery boys to deliver tiffins.

The business was slow to begin with but picked-up well afterwards. She was

able to earn a profit of 20% of the revenue in the first month.

(a) Identify the promotional tool used by Sara to communicate to the customers

about her tiffin service.

(b) State any three roles of the promotional tool identified in (a) above in marketing

of goods and services.

A= s Teredl uta fasisanati o1 3eong Hifs |

State any five characteristics of co-ordination.
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gam fafiee v sguedia wwmefi sl 8 fraes gerey aifiies <. 4 2 | 9 fava
% fafir 2uif % FstaHi o s wgH e 2 |

IE Teh UH] T 2 ToEd sHe hrRwmRl gHietor, daq aun feerd 1 A o s
A FHE FH F T @ B | HE H G- Tn- gt 8 qun fafies 39 6 am
et UfEa aramewer 3 Ay -y &Rl g 2 | dare fafiee & e g qur =M w®
Wi &t 8 formes g et § ardtaa 9 freer gfafvead 2 2

IE TE & Tl H UREfia favars ud S1oees & e i oft Sefed w8 | 36 THR
THE T b NeHTEd ek aldH S 319 3591 %! YT i H Gl 53 & | UHT Steh
Eram fefie & vares vov4 & %o fagral w1 fafs m @ E

U feredi gt fergredi @1 g e TEee |

Deewan I.td. is a multinational consulting company with its headquarters at
Washington D.C. It hires young people from different countries of the world.

It is a company in which people dream to work because of its work-environment,
pay and growth prospectus. The company has a culture of open communication and
people of various nationalities work together in a discrimination free environment. The
behaviour of managers of Deewan Ltd. emphasises kindliness and justice which
ensures loyality and devotion of workers.

It also promotes mutual trust and belongingness among team members. In this
way management of Deewan Ltd. 1s able to achieve its objectives by promoting team
work. By doing so Managers of Deewan Ltd. are following some principles of
management.

Identify and explain any two such principles.

Y AT % a9, S & foy w2, 39 i 1 urd S areft St -s[fedt @

IR Tk AfERT 7 gUUR IeqTeA H U HH! T fafires” $ v i | 3w #

Uohel FTeRVTTE— Tt &1 @9 36 W Hod, WA, Sqaeqy, IRT-ag—few qun = Hefifd

IS 1 fqawor o | 39 T gfe Iuvied- Harst a9 e w0 % avas faam

S v, 2feeia dat qur §-uet s Ht oft | gt e Al g TR a9 34 gutig

S & S1eT e 31 81 |

() IWea =AfEd Iy % forl 21 arfussl i ya=am Hifvu qur 32 gawEn |

(@) W Tl & el o1 oft Secte hifse ot efes fafirde gro wame 1 weifa fem e
F1

Aditi set-up a company ‘Dantik Ltd.” to manufacture toothpastes using herbs found in

her village instead of chemicals that are hazardous to health. The package of the

product was eco-friendly and had details like price, quantity, ingredients, directions for

use and other relevant information. It also carries the contact details like address,

phone number and e-mail id of ‘Dantik Consumer Services and Grievance Cell’. The

toothpaste became very popular and she started getting orders from reputed traders.

(a) Identify and explain any two Rights of Consumers discussed above.

(b) State any two values being communicated by ‘Dantik Ltd.” to the society.
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FTfreeh R we forenTa fopa T & e 39 379 ITH Tsg hl AR STed B et B |

Y TR & T W AT 6 IuEn it feufy 3= B e 2 | gee e v waes
it TR o BT HAAT & AT AFT b TEAT % I I AT R | UA] IcTE A -Fadl bl TR
IS o FEHI0T, ST 6t T qeim Sfia 1 Joren T 356 99T & e 59
fawar w1 wraurigds e g | S, TSy A e w i fafie e qen
USRIl @ TG e futEl o Hiees § WRa " HWa q9n ®ei wifed & suE §

HCH #4 U He T el e 1 e HE R | 6
I Lo ° gATan & fafi= s 6t gef HITE R |

Iurerd & dferrll st 3gYa wd U feredl e 3Tt <hi yg= HifS den 3% wHens |

With rapid advancements in the field of replacing manual work with machines, a robot
named ‘Sujan’ has been invented and developed and is likely to get the citizenship of

the country of its origin.

It has led to a stage where machines are being used in place of human beings.
‘Swjan’ is doing all types of work whether routine or hazardous and even answering
the queries of people. However, this issue has to be carefully looked into keeping in
mind the consumer attitude towards product innovations, problem of unemployment
and its impact on the quality of life. Through the orders and decisions of various
commissions and agencies at Centre, State or local level the Indian Government is

playing a very significant role in balancing the use of human and machine power.

Various dimensions of business environment are being discussed in the above

para.

By quoting the lines from the above identify and explain any three dimensions.
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T gerfzad wgde fafide’ o wrs yawve % < ug g & | wia dumad veus urel’
3 HTEA % 37e ° E U 39w Wil favear’ Y ug=e o aun 36 HETe Yees &% Ug W
Tga L T | gEt U % T werus wel 3 Ush T ST 1 HErdn off 9 HelH
w1 = fF | B mrE wee, W A e B favarw w5 fenes wefm’ % frerea |
SEaT o1, FEfy ‘frers’ @ S goiw & w9 o | ot el 3 Froly forn T wiisy W T
foreht amadt wia & =13 frgfaa =i =6om |

UH foredl W SHRvT 6t dueese e s W ure 5 3qter frofe foram g

There were two vacancies for the post of Assistant Manager in ‘Gyan Electrics Private
Ltd.”. ‘Parth® the Human Resources Manager identified one suitable candidate
‘Vishwas’ from within the organisation and promoted him to the post of Assistant
Manager. For another post, the Manager ‘Parth’ took help of a placement agency and
selected ‘Saleem’. After six months, Parth observed that ‘Vishwas’s’ performance was
much better than ‘Saleem’s’ performance though ‘Vishwas® was less qualified than
‘Saleem’. Hence, ‘Parth’ decided that in future he will not make any appointment with

the help of an outside source.

Explain any four reasons on the basis of which ‘Parth” would have taken the

above decision.

‘Fa Tt -—as @ w2 7 36 aR ° 98 gagfo & et 6 Tt e w6
HHSATRY |

What is meant by ‘New Issue Market’ ? Explain the various methods of floatation of

new securities issues in this market.
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